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Some thf/quf/shon@' we hame to ansuwer orv Us using the

6/ -7 =13

What added to- I3 makes 677
3+ =7/

50 + 10 = 60

So O/ s the missing number
We could also-say 67/

-1 3
ol



Choose the sebthabdwﬂfng@w% best.

) 32 + 25 - 97
D) L7 + 26 - 67
3) 26 + 63 - 109
L) 57 +17 - 72
5) L2 + 73 - I5
6) 72 + 55 = 33
7) 175 + 3.2 = 512

) 653 + 227 = 761,
2) 76l + 227 - 1037
3) 877 + 37, - 1220
L) 5L.6 = 227 + 208
5) 1,5 - 77 + 37

6) 2873 - 1508 + 1227
7)73 + 1?7 + 2L, - 105



/A\F\BM}Q{'\S/

) 12+ 2L - 36
2) Ll +15 =50
3) 7+21-28
L)73+21-9L
5) 3L + 22 - 56
6) 66 + 11 - 77
7) 3L -11+23

|)32+65=q7
D)Ll + 26 - 67
3) 1.6 + 63 = 109
[) 55 + 7 = 72
5) 2+ 73 =115
6) 78 + 55 - 133
7)165 + 3.7 =512

) 653 + 111 = 76l

2) 76 + 276 = 1037
3) 876 + 3LL - 1220
L) 5.6 - 338 + 208
5) .5 - 08 + 37

6) 2873 - 1598 + 1275
7)73+18+ 11 =105



Pr\epﬂmtoleax\m

b N o fantance
distance irv
krru
| | | ——

) Whab time did
Alexis stop to- eat?

) a\icvtbﬁbﬂw@”m@

half hours?
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) Alf»d&st@ppﬁdoﬁfpon@andjw hours. We carn telll because
2) Hestw\t&cgdmgzhom& Thf/lineshomthf/diﬁtanwﬁomhome
us/r\eduung/
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LO:sob\»ecompamsm swmondjd%:enexw px\obim\&
using information presented v as line graph

C: I carvidentifyy details from a line graph

ol T e prosiems by using atorjrom o Line

GD:IWWWWW@WWM
pr\ove/rmé/idf,ofsf
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We wills start withy a little reamision.



o This graph shows how many miles an aeroplane has left to
travel each hour on its journey from London to New York.

distance left to travel (miles)

4,000
3,500
3,000
2,500
2,000
1,500
1,000

500

0

0 1 2 3 4 5 6 7
flight time (hours)

How many hours is the flight?

How many miles is the journey from London
to New York?

After 4 hours, how many more miles are
left to travel?

How long does it take to fly the final 1,000 miles?

How many miles does the plane travel between
2 hours and 4 hours into the flight?




: . i ight?
o This graph shows how many miles an aeroplane has left to @) How many hours s the flight?

travel each hour on its journey from London to New York. o )
b) How many miles is the journey from London

4,000 to New York?
__ 3,500 ¢ ¢) After 4 hours, how many more miles are
& left to travel?
'E 3,000
g 2,500 d) How long does it take to fly the final 1,000 miles?
=
S 2,000 .
o e) How many miles does the plane travel between
2 4500 2 hours and 4 hours into the flight?
m r
=
g 1,000 +
2

500 SAMCNNS

nu1'23455? a:] ?hﬂurE
b) 3,500 miles
c] = 1450 miles
2.2 hours
1,200 miles

=
I

i

e)
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Tobegimuﬂﬂu mmwwmmmmmm Solbé/an.d/Sam

exercise,!

WM%MWWW%W@WWW@WQMMW
Let's write them dowrv inv our books.



ook ab the axes belour

Exercise and Pulse Rate

—— Sally
—=— Sam

Pulse in beats per min

I

Time in minutes

yowolljha/ve/ojgmmshﬁe)band/a/
table/ojldotw

First, some of yow need to- complete
the axes.

Then plot Sally's datas on the graph
and jourv the points withy as coloured,
pm&fwuagom(use@mler\).

Nesxt, plotSam’sdat@mduse@
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Challenge

This graph shows the conversion between miles and kilometres.

160

1504
1404
130+
1204
— 110+

1004

kilometres
8

0 10 - 20 30 40 S0 o0  TJO 80 S0
miles

"

100

a) How many kilometres are there in 50 miles?

b) How many miles are there in 130 km?

¢} Explain to a partner how you worked out the answers to
part a) and b).

d) Eva cycles 60 miles.

e)

Dexter cycles 80 km.

Who cycles the furthest?

How much further does the person cycle?

Ron wants to convert 800 km into miles.

I can't do it
because my graph doesn't
go high enough.

Ron is incorrect. Explain why.

Complete the conversion.

Show your working.

800 km = miles

A high-speed train can travel up to 400 km in an howur.

How many miles can it travel in an hour?




/A\F\BM}QI\SI

80 km
81 miles
To work out how many kilometres in 50 miles, draw a line up from 50 miles on the

harizontal axis and draw across to the vertical axis from where this meets the graph.
To work out how many miles in 130 km, draw a line across from 130 km on the vertical

axis and draw down to the horizontal axis from where this meets the graph.
Eva

10 miles

Ron can convert B0 km into miles and then multiply his answer by 10,

800 km = 500 miles

250 miles
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When we count, we count inv [Os, 100s and, so- on, but wherv we
measure time, we count irv 60s.

| hour 20 mirwtes + | hour (LS mirutes = 2 hours 65 minutes
Sw&gmmuiwrmnkemhoup so, 65 minutes make | hour 5 minutes
| hour 20 mirwtes + | hour (LS mirutes = 3 hours O minutes

2 hours |0 minutes - [LO mirutes means we have to- readjust:
Rmmb@,whmu}emmmhounu}eommwmg/éo,not@.

We would look at | hour 70 mirwtes - [LO mirwutes = | hour 30
mirulkes.



Select the seb that the best.
Amwmmw

) 25mins + 30mins ) S0mins + 20mins

2) 15mins + [.Omins 2) lhr - 35mins

3) 50mine + 20mins 3) lhr 15mine + L.Smine
[.) hr 20mins + [, Omins ) 2hrs 30mins + SOmins

5) lhr~ - 30mins o) 3hrs - Zhrs 22mins

) )
6) Somins - 20mins 6) Zhrs - I [omins
7) lhr 10mins - 20mins /) 3hr 22mins + Zhrs S6mins



AI’\BM}@'\SI

) omins + [Omins omins 1) 25mins + 30mine S5mins ) SOmins + 20mins lhr [Omins
2) 20mins + Smine 25mins  2) 1Smine + [.Omins S55mins 2) e - 35mins 25mins
3) 30mins + 30mins lhr 3) 30mins + 20mins |hr [0mins  3) |hp [Smines + . Smine 30mins

60mins
( ) L) e 20mins + LOmins 2hrs () 2hs S0mins. + SOmins e
L) 30mins - Omins 20mins ¢y \ a0 o0 Ormins

0) 3hrs - Zhrs 22mins 38mins

)
) | 6) Zhrs - lhr [omins [ omins

59mins - 20mins 35mins

6) lhr - 30mins 30mins 7) he [Omins - 20mins S0mins

7) hr 22mins - [2mins /) 2&2%% + 2hrs S6mins
he [Omins



Pr\epal\etoleanv
\/\/L&thf/‘odd;on@oub?

o~ .




Pr\epw\e to- learny
Which ts the odd one out?
ANSERS |
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C: I carv read information irv tables
D:Icamsoh»@p»oblﬂmb%/usmg/damwmtabl@&

GD:Icame»oplmhowI hweusedtablmtoda%dfiad&
and, errons

Vocabulary



oobumn;

Let's work these oul together.

. Herelis a table with information about planets. Use the table to
answer the questions.

NOU) —>

Pt | e | Dttt |
Mercury 88 days 4 57H 59 days
WEnus 225 days 2,004 245 days
Earth 365 days 14736 24 hiours
kMars 287 days 6,704 25 howrs
Jupiter 12 years ha2 a4 10 hawrs
b 29 ppars 120,336 N hours
Liranues Bd years 51,18 17 howrs
Hephine 5 vears 49500 17 hours

How many planets take more
than one day to rotate?

Which planets take more than
one year to make one
revolution?

Write the diameter of Jupiter in
words,

What is the difference between the diameter of Mars and Earth?
What is the difference between the time for rotation between

Mercury and Venus?



ANSWERS

answer the questions.

. Here is a table with information about planets. Use the table to

/3

panet | T | e | ™ | How many planets take more
Marcury 88 days 4578 s | than one day to rotate? L_

e 225 days 2104 2595 | Which planets take more tV

Earth 365 days 12756 24 hours

bars BAT days 6,704 25 howrs ane year to make one

Jupiter 12 years 142 584 10 haours rEVD[UtiOH?

Satum 29 years 120,536 T hewurs B . . .

o Frpe— e 7o | Write the diameter of Jupiter in hundre,d/ Oﬂ,dj b.UO*
Hephing 165 years 49,500 17 hours wardsl 4’ O.nﬁ

What is the difference between the time for rotation between .
Mercury and Venus? @‘9@/'[:0%

8L, days

What is the difference between the diameter of Mars and Earth? \\ U’LOUBOILCL, nunes hundx\edz Oﬂ,dl



Tr\té/ﬂn&or\,e/b)g/gow\sdt{;

Use the table to answer the questions.

City Leeds Wakefield | Bradford | Liverpool | Coventry

Population | 720,000 | 316,000 | 467000 | 440000 | 305,000

o) What is the difference between the highest and lowest population®?

b) Which two cities have a combined population of 6210007
¢ How much larger is the population of Liverpool than Coventry?



AI’\B&U@PS/

2) 115,000

h) Wakefield and, Coventryy
¢) 135,000



Ir\dfpfx\dent Work,



Tuesday, 20% Octoher Core

LO: To be able to read and, interpret
tables

The table shows the weight of five dogs, to the nearest kilogram,

Nome of dog Weight
Buster 12 kg
Misty 26 kg
Titch 14 kg
Henry
Patch

a) What is the total weight of Buster and Titch?

b) Henry is 10 kg heavier than Misty.
Write Henry's weight in the table.

) Patch is heavier that Titch but weighs less than Misty.

Write the dogs names in order of weight, starting with
the lightest.

Core 2

Fraer childnen took pait in a chess compatition
They each played six games

This. table shiws how many games aach child won, drew or lost

won drew lost
At 1 3 2
Megan 2 2 2
Chen 3 3 o
Denina 4 L] 2
Tom 0 5

Hirwr anry children drew more games. than they losi?

Depth

Kirsty, Seb, Mina, Jack and Donna belong to a sports club.

This table shows the spons they doin one week

Man Tues Wed | Thurs Fri
Karsty Jark Kirsty o
Swimming onna
Jack Donna
Nina
Jogging Seb Mina Kirsty
Jack
Kirsty
Cyeling Jack Seb
Donna

Each child scores two points. for 2 win
one pont for a draw
o poenks for & loss

Who scored the mast paints?

How many of the children do not go swimming?

Wiite the names of all the children who go both jogging and cycling

The table shows the averoge summer temperature for
different cities.

Here are the temperatures in four obes 21 medngil and 2t mdday

Temperature
Ciey At midrigt At midday
Paris -#C FaH
Oslo =13C [aH
Rame ¥C 10°C
Viarsaw 0 Fa

At midnight, hiw many degrees colder was Parnis than Rome?

Whach ity weis G degress oolder ol madnght than & mudday?

City London |Edinburgh | Paris | Madrid | Rome | Berlin
Temperoture
s 21 15 25 1l 30 22

a) What is the average summer temperature in Paris?

b} Which city has the warmest averoge temperature during

the summer?

¢) What is the difference in average temperature
between Berlin and Edinburgh?

d) Which two cities hove a difference of just one degree in average
summer temperature?

Teachers asked children how they travel to school.

The tables show how the children in Year 4 and Year 5 travel

to school.
Year 4 Year 5
Method Method
Walk| Bike | Car | Bus 'Walk | Bike | Car | Bus
of travel of travel
Number Number
18 1 10 o 17 3 7 1
of children of children

a) What is the most common method of travel in both year groups?

b} How many more children travel by car in Year 4 than

in Year 57 I:I

¢} Which year haos the most children?




ANSWERS

Tuesday 20% October Core

LO: To be able to read: and, interpret
tables

The table shows the weight of five dogs, to the nearest kilogram.

Nome of dog Weight
Buster 12 kg
Misty 26 kg
Titch 14 kg
Henry
Patch

a) What is the total weight of Buster and Titch?

2bkg

b) Henry is 10 kg heovier thon Misty. 36'

Write Henry's weight in the table.

€) Patch is heavier that Titch but weighs less than Misty.
Write the di

Core 2

Free children took part in a chess compatition
They each played six games

This table shows how many games each child won, drew of lost

won drew lost
A 1 3 2

Migan 2 2 2
Chen 3 1 0
Dienna 4 0 2
Tam 0 5

Hawy msary children drew mare garmes than they lost?

Depth

Kirsty, Seb, Mina, Jack and Donna belong to a sports dube

This table shows the spos they do in one week

Mon Tues Wed | Thurs Fri
Kirsty Jack Kirsty o
Swimming onna
Jack Danna
Nina
Jegaing Seb Mina Firsty
Jack
Kirsty
Cyeling Jack Seb
Donna

3

Each child scores tao points for a win
oz poant for & diraw
M0 poants for a loss.

‘Who scored the most points?

Chenrv

How many of the children do nat go swimming?

2

Write the names of all the children who go beth jogging and cycling

The table shows the averoge summer temperature for
different cities.

Here are the temperaiures in four cibes. at mdreght and at midday

Temparature
City At midnight At midday
Pars -4'C '3t
sk =13'C =TC
fiome ¥C il
Warsaw &0 re

At midnight how many degrees cokder was Paris than Fome?

7 d,egx% dagrves
Whath: ity weit B degress oolder 31 mudnight than o midday? O SJ\O’

City London | Edinburgh | Paris | Madrid | Rome | Berlin
Temperature

21 15 25 3 30 22
i}

a) What is the average summer temperature in Pcris?2
Nt

b) Which city hos the warmest average temperature during
¢) What is the difference in average temperature 7 j

between Berlin and Edinburgh?
d) Which two cities hove a difference of just one degree in overage

summer temperature? M | . |/R

the summer?

Teachers asked children how they trovel to school.

The tables show how the children in Year 4 and Year 5 travel

to school.
Year 4 Year 5
Sl Walk| Bike | Car | Bus e Walk | Bike | Car | Bus
of travel of travel
Number Number
18 1 10 1] 17 3 7 1
of children of children

a) What is the most common method of travel in both year groups?

b) How many more children travel by car in Year 4 than

in Year 57 3 I:'

€} Which year hos the most children?

L.




Greater Depth,

The table shows the number of ice creams sold in a shop lost week.\b

Day Mon | Tue | Wed | Thur Fri Sat Sun

Ice creams

15 27 13 19 2 a6 38
sold

The shop sold more
ice creams in total on Saturday
and Sunday than during the
rest of the week.

Do you agree with Alex?

Explain your reasons.

Challengel

o Class 5B did o survey to find out the types of pets children had
at home.

Dog Cat Hamster Rabbit Goldfish

M| HH 11 il HH

@ 2

| Rosie |

We do not
know how many
children are in
the class

There are
24 children in
the class

There are
more than 24 children
in the class.

l' Amir |

Who is correct?

Explain your answer.

On Monday all the children at Grange School each play one sport.

They choose either hockey or rounders

C W
’/‘ﬂ" - . éo' J/:a \\._;(
| L ol ¥ PR 7
¢ .t. // ' ‘\\‘ /
A 81 , ‘
55 ) (/’ “ | / ] | L4
— Seude -l G
‘1 1 __ Y
There are 103 children altogether in the school.
27 girls choose hockey
Wiite all this information in the table.
Then complete the table.
hockey rounders Total
boys 22
girls 53
Total




ANSWERS

Greater Depth,

The table shows the number of ice creams sold in a shop last week.

Day Mon | Tue | Wed | Thur Fri Sat Sun
I

sl 15 | 27 | 13| 19| 2 | 4 | 38
sold

The shop sold more
ice creams in total on Saturday
and Sunday than during the
rest of the week.

Dy

Do you agree with Alex?

Yes, 76 inthe week
Explain your reasons. 8L. | |

Challenge,

Class 58 did a survey to find out the types of pets children had

at home.
Dog Cat Hamster Rabbit Goldfish
HHI | HH 1 il HH

There are

24 children in
@ the class
[ Dora |
A

There are
more than 24 children
in the class.

We do not
know how many
children are in
the class.

)

[ Amir

Who is correct?

Explain your answer,

Rosie. Not all, kids hawe, pets.
Smeme

On Monday all the children at Grange School each play one sport.

They choose either hockey or rounders.

""" — R e
There are 103 children altogether in the school.
27 qgirls choose hockey.
Write all this information in the table.
Then complete the table.
hockey rounders Total
boys 22 28 50
girls 27 26 53
Total L9 5L |03




Link each word, to- the definition

column, things we can learn about things
datas a vertical set of cells
information a title for a column or rousr
heading a horizontal seb of cells



Reamiewr Answers

Link eachs word, to- the definition

o taking information from the table
column things we can Learny abou things
data, a vertical set of cells

information a title for a column or rousr
/a,hor\sz}r\taLseLoaCCdJ&
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Anrithmetic



Addition and subtraction

Remembenr to seb the columns correctly. There will be regrouping, v
some calculations. Choosewchaﬂx—mg@.

) L65L2 + 23,67 ) 368.989 + 76,89
2) 2,367 + 51,156 2) 513,909 + 879,957
3) 57,638 - 2,587 3) 761,357 - 583,392

L) 62,362 - L1671 1) 1356,210 - 377,28

5) 191,26 + 61.9,,99 5) .73,L.L.0 + 639,730



ANSWERS

) 347 + (.86
833

2) 709 + 275
g8l

3) 166 + 378
SINA

[) 953 + 321,
277

5) 8.6 - 237
609

6) 720 - 3I7
.03

) L6562 + 23467
70,009

2) 2,367 + 5L.,1.56
56,823

3) 57,638 - 2,587
55,05

L) 62,362 - L1671,
7,688

5) 191,426 + 6.9,,99
813,925

) 368.989 + 76,80
815,808

2) 513,909 + 879,957
393,866

3) 761,357 - 583,392
77,965

1)1356,210 - 377,,.28
478,782

5) L73.LLO + 699,730
173,70



PP@POF@JEO[BOI\W

Liverpool
Manchester United
Chelsea

Liverpool
Manchester United
Chelsea

Liverpool
Manchester United

Chelsea

Won 76
Won 174
Won 126
Lost 42
Lost 36
Lost 29
Drew 132
Drew 40
Drew 95

Howeosgzlsflbtor\eadfthi,&
Couldzwed\angelbtowwkelb
better? Hows?



ANSWER

Evexyi}\mg/wm@d/upandjhw\djtooﬁoupw.
We could pubs all the results for the team next to- eachy other

Wecould/addjmonecohum&soea@hn@sultha&@plmnmw
the team.
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LO: complﬂeneadondmtenpmbm}onmobomwtobi@sf

C: Icamr\eod/mt]:owmﬂomwm}owa%/toblw

D:Immwblm&b%u&ngxdomwwm}o
wa%/tobles/

GD:IcameJX{ﬂom how 1 hamve used two tables to



This two-way table shows the staff at Liverpool police station.

Male Female Total
Constable 55 24 79
Sergeant a8 5 13
Inspector 2 4 &
Chief Inspector T 1 2
Total 66 34 100

+ How many female inspectors are there?
* How many male sergeants are there?

* How many constables are there altogether?
* How many people work at Liverpool police station?

* How many male inspectors and female constables are there

altogether?

Thi&l&a/’uuowﬂxé/

L ook at, hows the
ruunbenqﬁmalﬁond/
]:@YLQL@LG/S}I,OLLH\J
mofsg/towor\k/oub

Ha/veajguab



ANSWERS

This two-way table shows the staff at Liverpool police station.

Male Female Total
Constable 55 24 79
Sergeant 8 13
Inspector 6
Chief Inspector 1 1 2
Total 66 34

= Thﬂ\ew\ehafexnal@mspedor\@
There are 8 mal@wgmni@

There are /9 constables
00 pf,oplf/wor\k/abthf/stahon/
26

* How many female inspectors are there?

* How many male sergeants are there?

* How many constables are there altogether?

* How many people work at Liverpool police station?

* How many male inspectors and fermale constables are there
altogether?



Complete the table.

Mary Urated

Liverpool

Chelsea

TOTAL

Wl

36

42

249

174

7y

126

TOTAL

What data is
missing? Fll b i

Camgou/seehow
this table is belter

Fort o
oy

Comg,owt?unk/oél

' ure
codd ask, based on
the i Lorv orv
this table?



ANSWERS Seam o MResut

Liverpool Won 76
Complete the table. .
Manchester United Won 174
Mar United | Liverpool Chelses TOTAL Chelsea Won 126
1 '—|-©7— ! Liverpool Lost 42
L st 35 42 29 Manchester United Lost 36
3 7 6 Chelsea Lost 29
Won 174 G 126 ! Liverpool Drew 132
ZiO ii8 i%S € Manchester United Drew 40
TOTAL L'- tj ‘5 ch
elsea Drew 95

Vowwmseehownuxdveowwt&tofouowﬂwefaat@wthﬁhw
toble, thar the other table. o
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Wednesday 2F October Core Wednesday 21 October Depth Greater Depth
I_O: TO- b& le&tb- 2 I | bA)O' UW l ' I LO: TO‘ b& Qu.&to A l l tUJO‘ Wagl l l l ° Teams are awarded points for each event at o swimming gola.

Some of the scores have occidentally been washed off!

A film is shown twice o doy at 3 pm and 7 pm. This table shows how many children
The table shows the number of children and adults that see each own dogs and cats.

show in one day.
Fill in the missing gaps and answer the

Adults Children questions below.
3 pm showing 28 65 Boys Girls Total
7 pm showing 58 12 Dogs a4
Cats 38
a) How many children watched the 7 pm showing?
' » e 9 Total | 125 245
b) How many adults watched the film thot day? - How many more boys have dogs
than girls?
- How many. more girls have cats Work out the missing scores and complete the toble,
than dogs? e
. i h
& T e 00 seak i W s How many more children have dogs
than cats? ° The table shows information about some of the world's
How mony seats were empty ot the 3pm showing? tallest bulldings.
e Number of Year
The table below shows the distance in miles between some cities. Bucing Country | Helght(m} | ““g ore | completed
Burj Khalifa UAE 828 163 2010
d) Did more children or more adults wotch the film? London
: Shanghai Tower China 632 128 2015
Show your workings. 3,459 New York
‘c‘f’:{‘ ?:::"' Saudi Arabia 601 120 2012
5938 6,736 Tokyo
g ::nf"':’"" China 599 1s 2017
6,011 7,803 9,152 | Caope Town R
. ) : Gol "": i China 597 128 2019
e) Why do you think fewer children watched the 7pm showing? 10,553 9929 7819 6,845 Sydney
a) How tall is the tallest building? E
Th bile sho inf i bo ¥ I f 100 b X A
e table shows information about the eye colour o people 0) Wi is the distance between SW"EQ and TOk\_‘O? A R s e
Brown Blue Green Total
Boys 12 25 70 b) Which two cities are the furthest apart? c) Which two bulldings have the same number of floors?
Girls 8
and
Total 29 100
. " . d) Which building was compieted most recontiy?
a) Complete the table 9 Choose a cty to strt in and then two more different DIOCQS e) How much taller is the Burj Khalifa than the Goldin Finance

to visit. 117 building?

How far would you have to travel? |:]

Three-fifths of the buildings are in China

b) How many boys have green eyes?

& How many girls have blue eyes?

h ?
d) How many more girls have brown eyes than blue eyes? ks this statement correct

00

Explain how you know

O




ANSWERS

ANSWERS Core

LO: To be able to interprel tuwo- wagatuﬂ.e&

A film is shiown twice o doy at 3 pm and 7 pm.

The table shows the number of children ond adults that see each
show in one day.

Adults Children
3 pm showing 28 &5
7 pm showing 5B 12

a} How many children watched the 7 pm showing? |2

b) How many odults watched the film that doy? 86

) There are 100 seats in the cinemao.

How many seats were empty ot the 3pm showing? ?

Wedneadag; 2 Octoher De.pﬂ'u
LO: To he able to interprel tuwo- u}ﬂga'tﬂﬂﬂﬁr

This table shows how many children
own dogs and cats,

Fill im the missing gaps and answer the
guestions below.

Bovs Girls Total
Dogs | a7 | . | 131
Cats 35 | 7E 114
Total 125 120 245

How many more boys have dogs
tharmn girls? 43
- How many more girls have cats
than dogs?

* How many more children have d
than cats?

Q
IR

d) Did more childrem or more adults watch the film?

Show your warkings.

It finished: past their- bed, time,

@) Why do you think fewer children watched the 7pm showing?

The table shaws infarmation about the ey calour of 100 people,

Browwn Bluae Li Tatal
Bays P 25 | 33 70
Girls 17 [] s [ s || s [
Total 4] a0 a1 100

a) Complete the table

b} How many boys hove green eyes? 33

) HnTt many girls hove blue eyes?

L]

d} How many more girls kove brown eyes thon blue eyges?

The toble below shows the distonce in miles between some cities.

London

3,459 New York

5538 6,736 Tokyo
6,011 7.803 9,152 | Cope Town
10,553 9,929 7819 6,845 Sydney ‘

a) Whaot is the distonce between Sydney and Tokyo? 7,813

b) Which two cities are the furthest apart?

€} Choose o city to start in and then two more different places
o visit.

How for would you hove to travel?

Greater D'e.pﬂn

o Teams are owarded points for each event ot o swimming gala.

Some of the scores hove occidentally been washed off!

Breaststroke | Bockstroke | Butterfly | Freestyle | Total
Yellow 405 | 250 | 210 35 1.870
Red BS0 A20 | 210 | &8O 1530
Green 210 | SO0 | 400 | 370 1,480
Blue | 345 | 210 &10 510 1675
Total 1,610 2050 1,430 1,925 F055

Wark oul the missing scores and coamplete the table,

o The table shows information about some of the world's
taollest baslldings.

Buillding Country | Height gm) | Mumeref | el
Burj Khalita UAE 828 163 2010
Shanghai Tower China 632 128 2015
Abwa) Al BoR | soudi Arobia| 601 120 2012
Fing ::n::""" China 555 1% 2017
G""“": .IF;,"':""" china sa7 128 2019

o} How tall is the tallest building? | S28m

[ ]

b Abri Al-Bait Clock Tower

Which building is 601 m tall?

¢} Which two bulldings howe the same number of floors?

Shanghai towser / Goldin Finance 117

d

How miuch taller is the Burj Khalifa than the Goldin Finance
117 building*

Which building waos completed most recently?| 010N FINAnce
[ zm ]

N Three-fifths of the buildings are in China

k this statement correct? __|

Explain how you know three of them are in China

Yes, Thege are S buildings and




Challenge

120 people were asked ~ | _-

where they went on - - _
holiday during the _
surmmer months of -

. ~—
last yvear. ! \

Use this information to create a two-way
table.

Imn June, & people went to France and 18
went to Spain.

Imn July, 10 people went to France and 19
went to ltaly

In Auvgust,15 people went to Spain.

35 people went to France altogether.
39 people went to Italy altogether.

35 people went awavy in June.

43 people went on holiday in August.



ANSWERS

Challenge

120 people were asked ~ | -

where they wenton - _
holiday during the o .
summer months of -

- ~

last year. AT
Use this information to create a two-way
table.

In June, 6 people went to France and 18
went to Spain.

In July, 10 people went to France and 19
went to ltaly

In August,15 people went to Spain.

35 people went to France altogether.
39 people went to ltaly altogether.

35 people went away in June.

43 people went on holiday in August.

Augush

Total

uly
France | 6 0 q 35
Ttaly | q q 39
Spairny | 1B 3 5 [6

T otal

—~
™o

L3

20




Remieur
Math's English Total
Girls
Boys
Total

i o porste o i " thesovourte subject

Where will we geb the dota to- fill i in?



Th“mdm‘fi 22" October
020



Anrithmetic



When we do calculations

gﬂmmwmb@use@l}
. e o dlod

and, move the

Foww\dor\bﬂokwapdfto

Oermfwb@s/,so o 5
mowe us orv [ numbers. ( _ — .‘
Y%
50 + 25 mirutes = 2:/5

The mirute hand, goes S numbers and passes the hour (12)




Choose the set that best challenges yow

) 12:00 + 20mins ) 12:06 - 20mins

2) 1:30 + 30mins 2) LS + e 30mins
3) [:25 + 60mins  3) [2:13 + 6hrs [Amins
l) 2:30 + | 2omins L) 7:2L - Shrs [I2mins
5) 5:1.5 - 30minse  5) Ikl - Slmins

6) 6:10 - 20mins 6) 2:07 - S59mins

12 I,
l()Il
)
'8.7 ),/



ANSWERS

) 100 + 20mins = [:20

2) 310 + bmins = 346
3) 1,:25 + 2 hes = 6:25
L) 5:50 - 30mins - 5:20
S) 245 - Tmins = 2:08

6) 12:4.5 - 15mins - 12:30

) 12:00 + 20mins 12:20
2) 130 + 30mins 2:00
3) L:25 + 60mins 5:25
L) 2:50 + hr 25mins L5
5) 545 - 30mins 55

6) 610 - 20mins 5:50

) 12:06 - 20mine | kL6
2) L5 + e 30mins 65
3) 243 + 6hrs [Amins 6:32
L) 7:2L - Shrs Pmine 2:2
5) I, - Slemins 1048

6) 2:07 - SYmins :08



PP@PUI\@JEO | earny

the, lessone e dor each, weck,



ANSWER YEAR 5 Thmctable — Wieck

.40 Sz e D 2S00 Sa30- 10,90 L0z 1D:55-11:35 11:35-12:45 12:4 1:45-2:55pm 2:55- Z.1D-
= D9: 20=am - 5 - {Lhr 10 rims) S L0 3.25
10=55 1:45 m
= B Cua L
] Wizl Being — Arithmmetic Mlatis Reading Wiiritimg SE
A Fu Us= lirne R Chaprters 31 232 write L Science
pil graphs to solfe E M N Explain that some changss result in the
5 problems WHL formation of new materials
co A iC
=
int K Reading FE H
o Wizl Being — Arithmmetic Mlatis Chapters 33

T Socovey == =nd s ]

E. ea Diesign a fromt i —
RE B _ I:;irlpeft Writing
= rmusic artist
1:1
e BCW BCW BOW BowW |
W i ‘ Art Art St At BCW 2:5
BOW - Art =
FRea 3.1
gis Oo
t?E' S—9:4Dam SA40-10:40armm 10:55-11:15 12:15-12:45 c [t
e Surithimetic Maths L Cal
Th n Reading- Wiritime - pubklish Thwro-way taklgs RE o IFTH:
=" | share poetry - s =
: rehearss = -
mo r W
rni o ors
ng W hip
28 E
ard L
S-O:40amm S 0-10:40am 10:55-11:15 Sp=lling Test
- Guided wWiriting Arithnmetic Criary CL PSHE
F Reading Wirite — 2 rapl 11:15-12:15 Admin. AS CT
== = Maths P — s
. _ Mini assessmment =et [yl
diff p=rform Send owut the WVE
' e L
ko] =dg=]
= Orgarnisers
i
g




There are wg&ﬂxabwewﬂd;setﬂwe' Lorv out, but the
waxé/we/datt school s withy a timetable shows the times
Dowmt}wsxdﬁthmmﬂwda%ojlﬂwwed@

Imﬂwnﬂddl&,ﬂmt&momtopubmﬂwmn&m&d@bomwm
the times.



22/10/2020

!_O: compid:eneadandmtenprebm{omnohomwtablm

C:Iwmneadjml{:omwﬁommﬁmfiublﬁsf
D:IWWMWWWWWW

GD:Icame»@plUm housr 1 hmusedwndablestodfrw
details and errors



We use timetables for o number of different; purposes:
> lessons abt school,

> busses and, trains

> cinemas and theatre shows

> telemision schedules
>WM®W



Use the timetable to answer the questions.

Bus Timetable
Halifa 005 | 0635 | 0710 0743 0815
Shelf 0515 | OEdS 0759 | 0831

ShelfVillage | 0616 | O&46 | 0723 | Q800 | OB32
Woodside OB:21 | 0650 ( OF28
Odsal OEc2b | OBc3S | 0733 | 0815 | 0845

Bradford Oo40 | 0710 | 07248 | 08:30 | 0900 |

On the 06:35 bus, how long does it take to get from Shelf to
Bradford?

Can you travel to Woodside on the 07:43 bus from Halifax?

Which journey takes the longest time between Shelf Village and
Bradford?

If you needed to travel from Halifax to Odsal and had to arrive by
08:20, which would be the best bus to catch? Explain your answer.

Which bus takes the longest time from Halifax to Bradford?




Use the timetable to answer the questions. ANSWERS

Bus Timetable

Halifan 06:05
Shelf D15
Shelf Village | 056
Woodside DB
Odsal OFc26 0733 08:45

Bradford U4 § 0710 § OF48 § 08:30 § 0900

On the 06:35 bus, how long does it take to get from Shelf to

Bradford? Lo
Can you travel to Woodside on the 07:43 bus from Halifax? No
Which journey takes the longest time between Shelf Village and

Bradford? 3:00

If you needed to travel from Halifax to Odsal and had to arrive by 7:,.3. Tt will geb yow there ot
08:20, which would be the best bus to catch? Explain your answer. 8.5
Which bus takes the longest time from Halifax to Bradford? Tile3



This table shows the opening times of a pet clinic.

( "1 PetClinic W |
| Monday 10am to 4:30pm
Tuesday 10am to 4:30pm
| Wednesday Clo=ed all day
Thursday 10:30am to 2:30pm
Friday 1pm to 6:30pm
‘ Saturday 10am to 5:30pm
Sunday Closed all day

How many hours is the clinic open on Thursday?

Onwhich day is the clinic open for the longest time?

Liam takes his dog to the clinic on Saturday.
He arrives at 9:25am.

How many minutes is it before the clinic opens?

hours

minutes

S | orv .
We can sort this one c,ouni‘mg/ orv

Frorm 10:30 v hour»c}umpsz

o We | |
ol o ltnere,ony g s

/\/\onda/g/ondjTuJ@sdag/ox\e’d\&sam&
T opens later and closes

sooner. n and/Sahu‘dwg/lookj
Question Three
We need to- look ab the time the clinic

opmwaomSabw‘dag/.



This table shows the opening times of a pet clinic. |) |O:3O = ”:30 = |2:3O — |:30 — 2:30
(! ] (PetClinic W\

Monday 10am to 4:30pm

Tuesday 10am to 4:30pm Nd’O“H/ 5 ‘y27 1

Wednesday Closed all day O*b‘u\da)g/ /2

Tl‘fl.rsday 10:30am to 2:30 pm 3 q 25 5 . _ q.3o

Friday 1ipm to 6:30pm

—— m—gg— 30 nunube;sz makes 10:00 so
Sunday Closed all day 35 mmi-@s/

How many hours is the clinic open on Thursday?

hours

Onwhich day is the clinic open for the longest time?

Liam takes his dog to the clinic on Saturday.
He arrives at 9:25am.

How many minutes is it before the clinic opens?

minutes




Independent work



Thursdayy 22 October 2020

LO: reads and, interprets

This is the train timetoble from Leeds to London.

Core

Leweds

Waokefield

Doncaster

Grantham

Peterboraugh

Stevenoge

a) What time does the 12:45 from Leeds arrive
in Lomdon?

Thursday 22 October 2020

Depth
LO: reads and; interpret

Thesa ane the radio programmes. ome morming

T.00 Music thow

7.55 ‘Weather report

800 Hews
B15 Travel news
825 Sport

245 Huoliday programme

Josh hams the radio on al 7 25am

How many minutes does he have o wait Tor the Yweather repot?

GG T

The Holiday programime [asts for 40 minules

Al whial time does the Holday programime finish?

22/10/20

Emma parks her car at 9.30 am

She collestts the car i 1.20 pm

How much does she pay?

Diam aned Mark both use the car park

Dan £ays,

Greater Depth,

Car Park charges
Time Change
ups b 1 how 200
100 2 howrs 500
200 3 hours £1.00
310 4 hours £1.70
aver 4 hours £5.00

I paidl exactly faioe 38 moch &8 Mark but I only Stayed 10 minules fonger.

Explain o Dan could be conmect

b) How long does the 13:58 train from Wokefield take to get
to London?

€) At which stations does the 14:15 train stop?

d) How long does it take to get from Grantham to Stevenage?

e) If guq arrive in Grontham at 13:30, how long will you need to
wait before the next train to London?

Hare it the calendar for August 1992

August 1998
Sun_ Mon Tues Wed Thur  Fri__Sat

2 3 4 5 - T 8
7] 1] 11 |12 13|14 | 15
16 17 18 | 19 | 20 | 21 | 22
23 | 24 | 25 | 26 | 27 | 28 | 29
30 | 31

Simon's birthday is on August 20th.
In 1992 he had a garty on the Sunday after his binthday

What was the date of his party?

Tina's birthday is on September Sth

On what day of the weak was har birthday in 19987

Here is a local bus timetable.

High Street

09:15

Library

Willow Park

Bank Road

Shop-A-Lot
Centre

09:30

09:47

10:05

10:20

a) Dexter misses the 09:15 bus by 3 minutes.
He needs to be ot Bonk Rood by 10:30

Is he still able to maoke it?

Explain your answer.




ANSWERS

Thursday 22" October 2020 Core

LO-cc-mplPiﬂ.mndannd;uﬁer\pJ&

This is the train timetoble from Leeds to London,

Leeds

Waokefield

Doncaster

Grantham

Peterborough

Stevenage

a) What time does the 12:45 from Leeds arrive
in Lomdon?

15:0

WDH;ZE“&DCIDMEOEO Depthy
LO: c,omplfiel, read: and: i

Thesa ara the radio Programmeas ans moming

T.00 Mlusac The

7.55 ‘Waathar report
2.00 HNerovs:

B.15 Traved news
B.2% Sport
845 Holiday programme

Josh lams the radio on al T 25am

Hiowy many minutes does he have o walt for e VWaabher naport?

i

The Holiday programme [asts for 40 minules

Al whal time does the Holday programme finish?

Q25 =

22/10/20

Car Park charges
Time Charge
s bo 1 how 200
180 2 howrs S0p
200 3 howrs £1.00
10 4 howrs £1.70
aver 4 hours £5.00

Emma parks har car at 9.30 am
She collects the car al 1.20 pm

How much does sha pay?

£1.70

Dan and Mark both usemeearmrAquk, ”’u\ 55mm15, = 50
Dary 2heeS mins - £) g

I paid exactly haice a8 much as Mark but I only stayed 10 minufes fonger.

Dan £ays,

Explain hor Dan could e oonrect

b) How long daes the 13:58 train from Wakefield take to get

to London?
Zhrs 3 mins

€} At which stotions does the 14:15 train stop?

Wakefield, Doncaster,
Grantharmy Stenage, L

d) How long does it take to get from Grantham to Stevenoge?

[, 6bmins

e) If guq arrive in Grantham at 13:30, how long will you need to
wait before the next train to London? :
L_Smm&

Heare is the calendar for August 1998

August 1998
_Sun_ Mon Tues Véed Thur  Fri_ Sat

2 3 4 5 - Fi a8
S 10 11 12 13 14 15
18 | 17 |18 | 12 | 20 | 21 | 22
23 |24 |25 | 26 | 27 | 28 | 29
30 | 31

Simon's birthday is on August 20th.

In 1998 he had a party on the Sunday afer his binthday

Tina's birthday is on September Sth Wdr\%da%/

On what day of the week was her birthday in 19987

What was the date of his party?

Here is a local bus timetable.

High Street 09:15

Library 09:30

Willow Park 09:47

Bonk Road 10:05

Shop-A-Lot

10:20
Centre

a) Dexter misses the 09:15 bus by 3 minutes.
He needs to be ot Bonk Rood by 10:30

I5 he still able to moke it? Yes - mﬁ{ﬂmgw
Explain your answer, Bank Rd, ab 10:25.




YEAR5 - Timetable - Week 2

B.40- 09:00- 9:20-9:40m 9:40-10.40 | 10:40- 10:55-11:35 11:35-12:45 12:45 1:45-2:55pm 2:55-
9,00 09:20am 10:55 - (1hr 10 mins) 3:10p
1:45 m
wWell Being - Arithmetic Maths Reading Writing
IVl Recovery Subtract 22-23 Descriptive
whole writing
numbers Topic/Science
with more
than 4
digits o
=
: 2
;q_x wWell Being - Arithmetic Maths Reading Writing n
T £ Recovery Round to Descriptive 3
P.E. Z e estimate writing o
- 3 PE
oy g
&€ X T EF
E E Arithmetic Maths g Reading Writing o é.. E
W A = Well Being - Inverse ops b 26-27 Descriptive = Topic/ 2 E
-E g Recovery +/- =2 writing -] Art or DET u E
= O =2} - =
E @ S
Sk
) 9-2:40am 9:40-10:40am 10:55-11:15 12:15-12:45
El Arithmetic =
Th 2 Reading Writing Topic Topic g
@ 28-29 Descriptive writing 11:15-12:15 @
Maths <
Multistep +/- prob’s “
9-9:40am 5:40-10:40am 10:55-11:15 =
Arithmetic 82 o
F Reading Writing H T § g PSHE R.E
Descriptive writing 11:15-12:15 o E
Maths .uEﬂ -E g
Mini Assess’ E < o
[}

3.10-
3.25




Whiting, Shrs
Arithmetic  hr (.0 mins
Topic/Science 3hrs 50 mins
PSHE
RE

30 mins
30 mins

f\/\akeupsom@ ' |
the data on the T suchy

iy =
Howmdwmmmt&spﬂ\t
orva\aﬂa&Urmeopio?

I 1O mins

YEAR5 - Timetable - Week 2

B.40- 09:00- 9:20-9:40m 9:40-10.40 | 10:40- 10:55-11:35 11:35-12:45 12:45 1:45-2:55pm 2:55-
9,00 09:20am 10:55 - (1hr 10 mins) 3:10p
1:45 m
wWell Being - Arithmetic Maths Reading Writing
IVl Recovery Subtract 22-23 Descriptive
whole writing
numbers Topic/Science
with more
than 4
digits o
=
: 2
;q_x wWell Being - Arithmetic Maths Reading Writing n
T £ Recovery Round to Descriptive 3
P.E. Z e estimate writing o
- 3 PE
oy g
& X T EF
E E Arithmetic Maths g Reading Writing o é.. E
W A = Well Being - Inverse ops b 26-27 Descriptive = Topic/ 2 E
-E g Recovery +/- =2 writing -] Art or DET u E
= O =2} - =
E @ S
Sk
) 9-2:40am 9:40-10:40am 10:55-11:15 12:15-12:45
El Arithmetic =
Th 2 Reading Writing Topic Topic g
@ 28-29 Descriptive writing 11:15-12:15 @
Maths <
Multistep +/- prob’s “
9-9:40am 5:40-10:40am 10:55-11:15 =
Arithmetic 82 o
F Reading Writing H T § g PSHE R.E
Descriptive writing 11:15-12:15 o E
Maths .uEﬂ -E g
Mini Assess’ E < o
[}

3.10-
3.25




Reamieus

W%thmong/thubu}@could/nntseehourtowhouh
or\under\stund/Wwejgotthmwr\ongp

Lei/'sxgobﬂ@k;ondflook/abthmmgeﬂf\@.
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Arithmelic



3

Times Tables

Weaek 1 Session 5
2020-21

35 45 and Bs

5 aweek

Mame:

Times Tables
Rock Stars

Times Tables

Week 5 Session 5
2020-21

35 45 and 85

5 aweek

MName:
Times Tables
Rock Stars
Lipemsad t Thamean Primany Soncel, BIrmingnam
1 Ixii= 21
z Ixnds= 2
3 Ix8= 23
4 Ix6= 24
3 Ixg= 5
6 Ixl2= L
T Ixi= 7
-] Ixli= 18
a Ix5= 29
10 Iwg= 30
11 IxT= 3
12 IxE= 3z
13 INE= 33
14 Iui= 34
15 Ixli= Es
16 Ix3= 36
17 Iwd= 3T
18 Iwd= 38
19 Iwl= 39
20 IxT= 40

Ixa=s 41
Ix2= 42
3x2= 43
Ixs= 44
Ixll= 45
Ix3i= 46
IxT= 47
Ixa= 48
Ixz= 49
ixe= 50
3+3= 51
2]"+3=_ 52
21+3=_ 53
3+3=_ 54
3[J+3=_ 55
3= 56
3= s7
Br3= 38
1B+3= 59
w/rI= 60

21 +3=

lg+3=

33+3=

2l +3=

21+ 3=

1 +3=

n+3i=

30+3=

33+3=

1+3=

§+3=

B+3=

15+3=

l@=3=

15+3=

3+3=

Time taken

3 minute time limit

Score

60

Add up your time

Mins
51
52
53
54
55
Total

Secs
51
52
53
54
55
Total

Add wp your score
51
52
53

55
Total

Liseeded 1@ Thamess Primary Sencel, Birmingnas

1

10

11

12

13

14

15

16

18

19

20

Bxll=

Bx5=

BExf=

Bxi=

Ex10=

Bul=

BxE=

Bxi=

BExT=

Exl=

Exi=

Exi=

Bxb=

BxT=

ExE=

Bxll=

Bx10=

Exi=

Exl=

Bx1l=

Fal

21

23

4

25

i

7

8

9

30

31

32

33

34

25

36

a7

38

39

40

Bxdm

Exilm=

Bull=

Exll=

Bxd=

BxG=

Bule=

BExE=

Bxll=

Exll=

Bg+g8=

+E=

24+8=

l6+8=

B0+E=

40+8=

S6+E=

Tl1+8=

l6+8=

45+ 8=

41

42

43

45

46

47

48

49

50

51

52

53

55

56

57

58

59

60

l6+8=

l6+8=

l6+8=

jG+8=

32+8=

95 +B=

1l6+8=

SG+B8=

B0+8=

B0+8=

Bg+g=

24+8=

G +E=

EE+E=

4p+8=

56+8=

Tl+8=

BeE=

Time taken

3 minute tirme limit

Score

60

Add up your time

Mins
51
52
53
54
55
Total

Secs
51
52
53

55
Total

Add wp your score
51
52
53

55
Total




Week 5 Session 5
2020-21

35 45 and Bs

5 & week

Name: Name:
Times Tables 3 Times Tables
Rock Stars Times Tables Rock Stars
Licensed te Tharnkon Primary Scheal, Birmingham Liz=nzzd o Thamtan Primary Scheal, Birmingham
ANSWERS 1 3x12=36 21 Ixd=12 41 1+3=17 B 8x12=9 e
2 Ixd=12 22 3x2=6 42 18:3=6 2 Bx5=40 =
3 Ix8=24 23 Ix2=6 43 33:3=11 = Br6=48 =
4 = 24
4 Ix6=18 24 3x5=15 44 21:3=7 8x3=40
-] = 25
) Ind=12 25 3x11 =33 45 21:3=7 8 % 10 = B0
[ = 26
6 Ix12=136 26 3Ix3=0 46 21+3=7 Bri=3b
7 Bx6=48 27
7 Ix3=9 27 IxT=21 47 3+£3=1
8 Bxi=24 28
] Ix12=136 28 Ixd=12 48 9+3=73
=) Bx7=56 29
9 Ixs5=15 29 3Ix2=6 49 Fx3=2
10 Bxl=8 30
10 Ixd=12 30 3x6=18 50 30+3=10
11 Bx2=168 31
11 Ix7=21 31 3+3=11 51 30+3=10
12 Bx2=16 32
12 Ix8=24 3z 2723=9 52 33:3=11
13 BxE=4d8 =)
13 Ixg=24 13 21+3=7 53 21+3=7
14 Bx7=56 34
14 Ix2=6 34 3:3=1 54 9:3=3
15 BxB=p4 a5
15 Ix12=136 EL 0=3=10 55 6=3=2
16 8% 1l=88 36
16 3Ix3=9 36 30+3=10 56 15=3=5
17 8x10=280 37
17 Ixd4=12 37 24+3=8 57 3+3=1
18 Bx2=16 38
18 Ix2=6 38 33:3=11 58 18=3=6
19 Bxl=8 39
19 Ix1=3 39 18:3=6 59 15:3=5
20 Bxl2=106 40
20 Ix7=21 40 /B=3=12 &0 3:3=1

8
Times Tables
Bxd4=32 41
Bx3=24 42
8x12=96 43
Bx12=196 44
Bxd=32 45
Bx0=72 46
Bx7=56 47
Bx6=48 48
8x11=88 49
8x11=88 50
88+ B=11 51
96+ B8=12 52
M+8=3 53
le+8=2 54
80+ B=10 55
40+8=5 56
S56+8=7 57
72+8=8 sB
16+8=2 59
48+B8=6 60

l6+8=2

le+8=2

l6+8=2

g+8=1

56+8=7

32+8=4

96 +E8=12

16+8=2

56+8=7

BO=8=10

BO+E8=10

B =8=11

8+8=1

24+8=3

96«8 =12

B8 +B8=11

40+8=5

56+8=7

T2+8=9

B+8=1



Tndependent work



Ancther liquid is heated for 100 seconds.

*  The temperature of the liquid at the start was 5°C

*  After 4O seconds the temperature is I0°C
S'l'q'l'is'l'ics * Tt takes the liquid 50 seconds to increase by ancther 5°C

Year S

*  After 100 seconds the temperature is 20°C
Draw a line to show this information on the graph
Name ¢ y—
o The table shows the distance (in km) between places in the UK.
o The graph shows the temperature of a liquid as it is heated. Bath 0 By Lesd Parti
0 204 Bath - 307 260 350 690
= -
E Dowr | 307 | - | 20 | 270 | s®2
5 By 260 220 - M0 | 640
E 01 Leeds | 350 | 270 | 290 | - | 430
E Perth 690 832 640 430 -
r | | | | | r | | > What is the distance between Ely and Leeds?
o 20 30 40 50 60 TJO BO 90 100
Time in seconds km —
How long does it take the liquid to reach I0°C? Which place in the table is 630 km from Bath?
seconds
| mark | mark
What is the temperature of the liquid after it is heated On Monday Mike drives from Dover to Leeds.
for 50 seconds? o On Tuesday he drives from Leeds to Perth
I mark How many kilometres does he drive altogether?
How many degrees has the temperature increased by
between Y0 seconds and 80 seconds?
< I mark ™ 2 marks




e The table shows the start times for films ot a cinema.

o The table shows the information about 130 sandwiches that

were sold in a shop.

| mark

12:10 I:30 12:30 1210
I3:40 12:45 4-:00 13:20
1540 I4-:00 15:30 440
16:40 1945 [7:30 16:00
Which film starts in the morning?
Which film starts at 5:30pm?
Jack arrives at the cinema at 2:20pm.
He wants to watch Wand King.
How long does he have to wait?
minutes

| rrark

Bubble Mania lasts 100 minutes.
What time does the 1510 film finish?

2 marke

Brown bread | White bread Total
Egg 3 26 39
Tuna 18 !
Cheese 22
Total 69 130

How many mere egg sandwiches were sold on white bread
than brown?

| mark

How many tuna sandwiches on brown bread were sold?
2 marks
Complete the missing values in the table. P—

Circle how confident you feel with statistics.
| 2 3 4 5]

Mot Very
confident confident
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Statistics

Answers

o The graph shows the temperature of a liquid as it is heated

Temperature of liquidin 'C
\

=

T T | 1 1 1 | | T T
o 20 30 4 50 60 70 B8O 90 100

Time in seconds

How long does it take the liquid fo reach I0°C?

70) seconds

What is the temperature of the liquid after it is heated

for 50 seconds?

16 C
How many degrees has the temperature increased by
between Y0 seconds and 80 seconds?

5 °C

Ancther liquid is heated for 100 seconds.

*  The temperature of the liquid at the start was 5°C

*  After YO seconds the temperature is I0°C

* It takes the liquid 5O seconds to increase by another 5°C
*  After 100 seconds the temperature is 20°C

Draw a line to show this information on the graph

0 The table shows the distance (in km) between places in the UK.

Bath Dover | Ely | Lesds | Perth
Bath - 307 | 260 | 350 | 690
Dover | 307 - 220 270 832
Ely 260 220 - 240 640
Leeds | 350 270 240 - 430
Perth | 690 832 640 | 430 -

What is the distance between Ely and Leeds?

240 km

3 marks

Which place in the table is 690 km from Bath?

Perth

| rrark

On Monday Mike drives from Dover to Leeds.
On Tuesday he drives from Leeds to Perth
How many kilometres does he drive altogether?

Award | mark for showing the proper

—

distances (270 and 4Y30) and using addition JO0 km

| rrark

2 marks




e The table shows the start times for films at a cinema

Bubble Mania Mission Boy Magic Island Wand King
12:10 I:30 12:30 [2:10
I3:40 1245 I4:00 13:20
15:10 I4:00 15:30 1440
16:40 15:5 17:30 16:00
Which film starts in the morning?
Mission Boy
Which film starts at 5:30pm?
Magic Island
Jack arrives at the cinema at 2:20pm.
He wants fo watch Wand King.
How long does he have fo wait?
70 minutes
Bubble Mania lasts 100 minutes.
What time does the IS10 film finish?
6:50 or 4:50pm

| mark

| mark

2 marke

o The table shows the information gbout 130 sandwiches that

were sold in a shop.

Brown bread | White bread Total
Egg 13 26 39

Tuna 26 18 by

Cheese 22 25 Y7

Total 6l 69 130

How many more egg sandwiches were sold on white bread
than brown?

| mark
How many tuna sandwiches on brown bread were sold?
2
2 marks
Complete the missing values in the table. Sp—

Award | mark for 2 correct answers

Circle how confident you feel with statistics.
| 2 3 Y 5]

Mot Very
confident confident




Remieus

> Which areas did we find hardest?

> Where do- we need to- do- some extra practise?
> Which work was the most fun?
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